Turbreite (mm)

Fensterbreite (mm)
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zul. Fensterflige .
_ zul_ Tiirfliige s gewicht (kg)
o | gewicht (kg) .
&
Turbreite (mm)
= 700 | 800 | 900 | 1000 | 1100 | 1200
E| 1700 [ 65 65 58 52 47 43
;E 1600 | 65 65 63 56 51 L7
511900 | 65 | 65 | 65 | 61 | 55 | 51
2000 | 65 65 65 65 59 54
2100 | 65 65 65 65 63 58
2200 | 65 65 65 65 65 61

bei 3 Bandern: +25%

Fensterbreite (mm)

N 500 | 600 | 700 | 800 | 900 | 1000 | 1100 | 1200
€[ 600 | 38 | 32 | 27 | 2k |21 |19 | 17 |16
2logo | &7 | 39 | 33 | 29 |26 | 23 | 21 | 20
Gl 000 | 55 | %6 | 40 | 35 | 31 |28 | 25 | 23
27900 | 6k | 53 | 46 | 40 | 36 |32 | 29 |27
“I200 65 61 |52 | &6 | »0 | 36 | 33 | 30
800 | 65 | 65 | 58 | 51 | &5 | &1 | 37 | 34
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Belastungstabelle | gut: 2000
bei einwandfreiem g‘;;‘;‘:’f””gs'm"’ = -
{nderung Tug | Numa Anschlag Ersa!.z fir: =




